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Answer any 2 full questions, choosing one full qu&stlon from each part.
N Questions . Mﬂl'k’[m’“cos
PART A

1|ajState and explain Kirchhoff’s laws as applied to an electric circuit. 6 |L1|COl
biExplain the generation of single phase AC induced emf with suitable diagram, 7 | L2 |COI
cTwo conductors connected in parallel across 100V dc supply, take 10A 6 | L3 |COl

current from the supply. Power dissipated in one conductor is 600W. What is‘
the resistance of each conductor?
d[The equation of an alternating current is given as i=62.35 sin(323t) Amps| 6 | L3 |COIl

Determine its maximum value, frequency, rms value, average value and form
factor.

OR
2laDerive the equation for root-mean-square value of an alternating current in{ 6 | L2 ‘COI
of maximum value. :
biShow that in a pure inductor the current lags behind the voltage by 90°. Also, 6 [ T2 \COI

draw the voltage and current waveforms. — ]
¢(The maximum value of a sinusoidal altematmg‘ctmem ‘of frequency 50Hzi§ 6 |L3 |COl

25A. Wilic the equation for instantaneous value of the alternating current.
Determine its value at 3ms.
dDetermine L 1, I, Va, and V,, in the network. 7 L3 |CO1
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PART B

3|a[Find the equivalent resistance, when'three résistances are connected in (a) 8 L2 Ico1
_jseries and (b) parallel. '

onw that the voltage e and current in pure resistive circuit are in phase and| 7 LZ CO1
|

wer consumed in the circuit equal to product of rms voltage and current.
e circuit is excited by the a.c. source.

c[For the bridge circuit shown in figure. calculate current in all branches and 7 |L3|CO1
power supplied by the source.
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dfF ind the resistance across SM of the network shown in figure.
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4]a/State Ohm’s Law. Mention its limitations. 6 I[J,l (égz
bShow that a pure capacitance does not consume any pOWeET. Draw th 2
waveforms of voltage, current and power, when alternating vohage is appli
to pure capacitance. =
c[Find the currents in various branches of the given network shown in figure. 7 | L3 |CO]
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[Reduce the netwo.
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A and B.

k, given in figure to a single resistance between tenmnals\ 3|13 JEC
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